% SWASH PLATE TYPE PISTON #itr HANDOK HYDRAULIC.CO Page 01
B
D i
S S — — S IS
e ﬁ
!
L !
C ]
G
NO P/NO MODEL A B C D E F G REMARK
1 A4V250-PIA-01 A4V250 31.2 17 88.7 44.6  30.8 7 128.1
2 A4V500-PIA-01 A4V500 39.3 220 111.3 56.4 39 8.9 160.8
3 A10V17-PIA-01 ATOV17 12.5 8 29.2 16 12 3.4 438
4 A10V21-PIA-01 A10V21 14.5 10 28.4 17 12.8 2.8 43.7 A10V231 22
5 A10V28-PIA-01 A10V28 145 102 344 19 138 3.6 515
6 A10V40-PIA-01 A10V40 17 125 39.7 213 156 4 59.9
7 A10V43-PIA-01 A10V43 17 12.7 395 21.3 15.6 4 60
8 A10V71SR-PIA-01 A10V71SR 20 4 465 26 19.0 5 69.7
9 A10VO71-PIA-01 A10VO71 20 14 46.7 26  18.8 4.8  69.3
10 AP12-PIA-01 AP12 23.6 15.2 59 33 227 5 86 E320B
| AP2D14-PIA-O1 AP2D14 14.5 5 29.7 17.0 12.8 3.1 453 NEW TYPE
12 AP2D21-PIA-01 AP2D21 17 5 32 198 148 3.6 506
13 AP2D25-PIA-01 AP2D25 17.6 3 37.7 205 153 3.6  56.2
14 AP2D36-PIA-01 AP2D36 21 5 36.4 253 19 52  62.8
15 AP2D38-PIA-01 AP2D38 21 5 36.4 253 19 52  62.8
16 AP2D42-PIA-01 AP2D42 21 5 36.4 253 19 52  62.8
17 LMF64-PIA-01 LMF64 20 10 50  26.8  18.5 4 73.3




% SWASH PLATE TYPE PISTON {i5r HANDOK HYDRAULIC.CO Page 02

W@ i
A i
< m“ ﬁ' % ]
< = B _ _ S| ©
o D
Y !
i ‘l
C ’E«
G

NO P/NO MODEL A B C D E F G REMARK
1 AP5S53W-PIA-01 AP5S53W 19 12.4 55.1 25.0 19.0 5 79
2 AP5S67W-PIA-01 AP5S67W 20 12.5 54.8 25.2 18.0 5 79
3 DNB50-PIA-01 DNB50 30 20.3 63 36 24.5 5.5 96.2
4 K3V63-PIA-01 K3V63 20 5 46.0 25.5 17.5 4 70
5 K3V112-PIA-01 K3V112 24 6 55.2 31.5 22.4 5 84
6 K3V140-PIA-01 K3V140 25 9 62.7 35 23.5 5.5 96.3
7 K3V180-PIA-01 K3V180 28 20.3 61.7 35.5 23.5 5.5 95.5
8 K3V280-PIA-01 K3V280 32 9.2 79.0 43.0 29.5 6.5 120
9 SPK10-10-PIA-01 SPK10-10 23.6 3 59 30.9 24 .4 5 86
10 SPV10-10-PIA-01 SPV10-10 25.9 6.2 63.6 31 26 5.5 90.15
11
12
13
14
15
16
17




% SWASH PLATE TYPE PISTON {@ HANDOK HYDRAULIC.CO Page 03
BN v
D 1
i a e
S S — — — S S8
| I \
Y
i ‘l
C F -
G
NO P/NO MODEL A B C D E F G REMARK
1 HPR100-PIA-01 HPR100 22.5 14.2 58.5 30 21.4 5.5 85.5
2 HPR130-PIA-01 HPR130 27.0 18.0 65.6 36.5 27.0 7 99
3 HPR160-PIA-01 HPR160 27 18 74 36.5 27 7 107.3
4 HPV35-PIA-01 HPV35 16.7 8.7 38 20 141 3.5 56.3
5 HPV55-PIA-01 HPV55 19 10 47.7 23.5 17 4 69.5
6 HPV90-PIA-01 HPV90 23 12 55 28 20.2 5 79.5
7 HPV160-PIA-01 HPV160 27 15.5 63.2 33 24.5 6 95.0
8 HTM450-PIA-01 HTM450 33 24 58.8 38 27.9 5.5 98.5
9 HTM550-PIA-01 HTM550 33 23 74.5 38 28 5.5 112.6
10 SG15(MFB200)-PIA-01 SG15(MFB200) 28 20 60 33.9 24 5 90
11 SG20(MFB250)-PIA-01 SG20(MFB250) 29.6 22 76.9 37.9 28.0 5.5 111.8
12 SBS140-PIA-01 SBS140 25.9 17.7 60.2 33.0 22.7 6 86.5
13 EATON33-PIA-01 EATON33 18.5 6.3 55.7 26.2 17.8 4.7 79
14 EATON46—-PIA-01 EATONA46 20.12 11 56.3 26.9 19.8 41 79
15 EATON56—-PIA-01 EATON56 20.7 7 63 29.3 19.8 52 88
16

—
~




% SWASH PLATE TYPE PISTON £i5r HANDOK HYDRAULIC.CO Page 04

I w—
L [ I
< m]i w <l 5
S S — — — IS IS\
"7’ *************** J_K
Y I !
[ !
C L
G
NO P/NO MODEL A B C D E F G REMARK

1 LPVD45-PIA-01 LPVD45 18 12.5 446 241 16.7 3.5 65.9
2 LPVD64-PIA-01 LPVD64 20 14.2 49.0 26.8 185 4 73.3
3 LPVD75-PIA-01 LPVD75 21.6 14.0 54.1 29 20 4.3 79.3
4 LPVD90-PIA-01 LPVD90 22.5 14.0 56.2  30.2  20.8 4.4 82.1
5 LPVD100-PIA-01 LPVD100 24.0 15.0 60.3 325 222 4.8 88
6 LPVD125-PIA-01 LPVD125 25.0 17.6 62.2  33.8 22.45 5.5 91.6
7 M2X63—-PIA-01 M2X63 20 6 32.1 24 17.5 4 56
8 M2X96-PIA-01 M2X96 23 9 38.3 275 195 5 66.1
9 M2X120—-PIA-01 M2X120 25 9 42.0 30 21 5.5 72
10 M2X146-PIA-01 M2X146 26 9 455 31.0 225 5.5 79.5
11 M2X150~PIA-01 M2X150 28 9 45.7 335 235 5.5 80
12 M2X170-PIA-01 M2X170 28 9 457 335 235 5.5 80
13 M2X210-PIA-01 M2X210 30 9 495  35.8 26 6 85.5
14 M2Z150~PIA-01 M2Z150 27 5 48.6  32.7 25 6 80.4
15 M3V130-PIA-01 M3V130 25.5 16 58.7 32.8 235 6.3 89.5
16 M21-PIA-01 M21 17.2 11.2 57.4 23 15.8 4.3 78.1
17 M22-PIA-01 M22 19.05 135 121.3 253  17.5 5 84.6




% SWASH PLATE TYPE PISTON {i5r HANDOK HYDRAULIC.CO Page 05
B v —
i \ i
“7 77777777777777 w
< 3 : : : 5o
S8
.
| /J/%/ !
| !
L
NO P/NO MODEL A B C D E F G REMARK
1 M23-PIA-01 M23 20.37 3.2 64.5  27.5 18.9 5.3 89.3
p) MCB172A-PIA-01 MCB172A 25.9 15.2 59.0  33.0 22.7 5 86
3 MPVO46-PIA-01 MPVO46 19.8 15 83.57 23.4 17.4 3.3 64.3
4 MX150-PIA-01 MX150 28 20 63.2 36 23.6 5.5 96.9
5 MX173-PIA-01 MX173 30 22 1 69.5  38.4 28 6 106
6 MX200-PIA-01 MX200 30 22.2 69.5  38.5 22 6 106.8
7 MX250-PIA-01 MX250 30 24 747 385 28 5 105.7
8 MX500—-PIA-01 MX500 40 28.8 77 51 37.3 5 125
9 MX530—-PIA-01 MX530 42 28.8 77 51 - 5 125
10 NVK45-PIA-01 NVK45 18 5 39 23 15.6 3.5 60.5
11 NV64—-PIA-01 NV64 20 5 46.5  25.5 17.5 4 70
12 NV70-PIA-01 NV70 22 6 48.5 28 19.6 4.5 75.8
13 NV80-PIA-01 NV80 22 16 57.1 31 22.0 5.0 85.5
14 SAUER26-PIA-01 SAUER26 27.7 3.1 746  35.6 27.4 4.8 106.2
15 SHR70-PIA-01 SHR70 19 13.2 61.4  26.4 18.5 5 86.2
16 SG04(MFB80)-PIA-01 SGO04(MFB80) 20.7 10 54.8 28 19.8 4.4 76.4
17 SG08-PIA-01 SGO8(MFB150,160)  26.5 17.6 56.7 32 24 1 4.5 83.2

(MFB150,160)=PIA-01




% SWASH PLATE TYPE PISTON £i5r HANDOK HYDRAULIC.CO Page 06
IR
L E I
" =
< s - _ - sl S
R A
| f !
1
C -
G
NO P/NO MODEL A B C D E F G REMARK
1 NV84-PIA-01 NV84 22 6 53.0 28 19.6 4.5 80.4
2 NV111-PIA-01 NV111 24 6 56 31.5 22.2 5 83.9
3 NV137-PIA-01 NV137 25 9 62.7 35 23.6 5.5 96.3
4 NV172-PIA-01 NV172 28 20.3 61.7 35.5 23.5 5.5 95.5
5 NV210-PIA-01 NV210 32 22.8 81 43 29.5 6.5 121
6 NV270-PIA-01 NV270 32 22.8 81 43 29.5 6.5 121
7 NX15-PIA-01 NX15 16 11.6 40.8 22.5 15.6 3.5 60.9
8 PMS150-PIA-01 PMS150 28 10 53 34 23.9 5.5 86.4
9 PVD21-PIA-01 PVD21 17.2 11.2 57.4 23 15.8 4.3 78.1
10 PVD22-PIA-01 PvD22 19.05 3 61.5 25.3 17.5 4.8 85
11 PVD23-PIA-01 PVD23 20.64 14.4 635 275  18.9 5.3 89.3
12 PVD1B-32P-PIA-01 PVD1B-32P 16 12.1 24.5 19 14.5 4.2 41.5
13 PV092R-PIA-01 PV092R 21 14.0 77.3 30 21.0 3.5 100.0
14 PVW20R-PIA-01 PVW?20R 16.5 8.0 43.3 20.5 15.5 4.3 60.6
15
16

17




% SWASH PLATE TYPE PISTON {:@ HANDOK HYDRAULIC.CO Page 07
‘ B vi—
i
I ¥ w
g W _ L O
I = - - - e ©
A —"
| P |
I |
C —»L<—
—- G -
P/NO MODEL A B C D E F G REMARK
LPVD160-PIA-01 LPVD160 27.5 19 68.5 40 25.6 5.5 100.5
M5X180-PIA-01 M5X180 28 9 46.4 33.4 23.5 5.5 72.6
M5X130—-PIA-01 M5X130 25 9 42 30.2 21.5 5.5 73.5

_L_L_L_\_L_L_L_\@ _LZ
~N o oA WN = O N o o~ @)




% SWASH PLATE TYPE PISTON {5 HANDOK HYDRAULIC.CO Page 08
‘ L I
R N b
§ s S - i :
o 7
Y
| |
C L
P/NO MODEL A B C D E F G REMARK
K5V80-PIA-01 K5V80 20 6 43.3 25.5 17.5 4 66.8
K5V140-PIA-01 K5V140 25 6 52.5 31.4 22 5 81
SG03-PIA-01 SG03 19.2 12 40 24 .4 18 3.8 60.5
V38—-PIA-01 V38 16.42 12.7 38.3 20.2 15 4 1 55.8 SPVi8 =&
A10V140-PIA-01 A10V140 25 18.6 62.8 31.4 23 5.1 88
A10V100-PIA-01 A10V100 23 17 53 30.5 22 5.5 78.8

_L_L_L_\_L_L_L_\@m m(ﬂ#w[\)—kz
~N o oA~ wWN = O ~ o




 SWASH PLATE TYPE PISTON {5F HANDOK HYDRAULIC.CO Page 09

oA _
%8B
|
I
|
BE
2D

7.
3 C - F
- G -

NO P/NO MODEL A B C D E F G REMARK

1 A4VG28-PIA-01 A4VG28 135 3.5 40 185 13.4 3.1 56

2 A4V56-PIA-01 A4V56 17 36 17.3 233 50 3.9 703

3 A4V71-PIA-01 A4V71 18.4 3.4 188 24.8 53.5 4 76.2

4 A11VLO190-PIA-01 AT1VLO190 o8 3.5 278 398 76,6 6.3  103.6

5 A4VS0260-PIA-01 A4VS0260 31.2 4 32 45  93.3 7 1327
I A4vG125-PIA-O1 A4VG125 248 3.4 782 355 245 56 105.2

7

8

9

10

11

12

13

14

15

16

17




% SWASH PLATE TYPE PISTON {#5F HANDOK HYDRAULIC.CO Page 10
I
i
s 8§ — - -
|
|
NO P/NO MODEL A B C D E F G REMARK
1 A11VL0260-PIA-02 A11VL0260 31.2 17 31.5 45 7 102.5 128.5
2 PC40-PIA-01 PC40 17 9 146 20 3.5 47 56.3
3 VRD63-PIA—01 VRD63(E120B)  19.05 11 175 254 3175 588  69.2
4 R HPV132/PC300-6 25 146 207 326 58 836  99.4
5 HPV95-PIA-01 PC200-6 23.2 14 205 291 54 674 815
6 HPV95A-PIA-01 PC200-7 23.2 14 205 291 54 659 80
7 MAG150/170-PIA-01 MCA150/170 26.5 18 22 34 7 67.4 83
8 MAG200-PIA-01 MAG200 30 20 26 37 65 755 915
MAG80-PIA-01
9 MSE89-PIA_O- MAG80/MSF89 225 162  17.9 29 6 67.6 80
10 MAG85-PIA-01 MAG85 225  16.2 18 29 6 53.6 66
11 MK23A-PIA-01 MK23A 30 215 295 425 6 89 1108
12 MSF170-PIA-01 MSF170 28 18 24 351 7 67.4 825
13 MSF200-PIA-01 MSF200 30 20 26 36 65 757 915
14 MSF270-PIA-01 MSF270 35.5  26.4 30 44 9 79.5 100.5
15 PSV2-63-PIA-01 PSV2-63 20.5 14 17.8 24 4.5 58 68.5
16 PSV2-62-PIA-01 PSV2-62 20.5 14 17.8 27 45 493 595
I rsvD2-19-PiA-01 PSVD2-19 17 9 15 204 3 433 51.4




% SWASH PLATE TYPE PISTON

{5 HANDOK HYDRAULIC.CO Page 11

=z
@)

P/NO
HTM250-PIA-01

~NoO oA WN = O ~

MODEL
HTM250

DA
7B

)

S

- C -—

- G
A B C D
28 20 44.5

N

F G REMARK
34 242 4 77




% SWASH PLATE TYPE PISTON {88 HANDOK HYDRAULIC.CO Page 12

S |
I
1
< @ _ _ _ _ ‘ 4 0
SIS ‘ [SERERN
|
! i S|
S |
C . N
G -

NO P/NO MODEL A B C D E F G REMARK
1 GMO08-PIA-01 GMO08 17 11 37.3 22.6 16.2 4.5 55.6
2 GM15F-PIA-01 GM15F 22 15.2 51.4 29.4 21.2 4.5 73.7
3 GM15VL-PIA-01 GM15VL 22 15.2 51.4 29.5 21.2 4.5 73.7
4 GM30H-PIA-01 GM30H 28 20 68 37.5 28 6 97.3
5 GM24VA-PIA-01 GM24VA 24 17 68.5 32 24 5 95.9
6 GM28B-PIA-01 GM28B 24 17 68.5 32 24 5 95.9
7 GM30F-PIA-01 GM30F 24 17 68.5 32 24 5 95.9
8 GM35VA-PIA-01 GM35VA 28 20 68 37.5 28 6 97.3
9 GM35VL-PIA-01 GM35VL 25.5 17 54.5 32.8 23 6.4 82.5
10 GM38H-PIA-01 GM38H 28 20 68 37.5 28 6 97.3
11 CAT140G-PIA-01 CAT140G 23.1 17.5 63.6 28.2 20.6 5.2 87.6 CAT1403 &
12 PPS140(L)-PIA-01 PPS140(L) 28.6 20 80.4 39 26.9 7.0 110.2
13 PPS140(S)-PIA-01 PPS140(S) 28.6 20 66.7 39 26.9 7.0 96.5
14 GMO3-PIA-01 GMO03 14 9 26.1 18 13.4 3 37
15
16

-
~




5 SWASH PLATE TYPE PISTON {458 HANDOK HYDRAULIC.CO Page 13
I I f
I
| M - B B — — Ll M
IS8 IS IS8 IS
p ! 4@@ '
N !
— G —
NO P/NO MODEL A B C D E F REMARK
CAT12G-PIA-01 CAT12G 22.2 16.8 61.5 29 22.3 5.5 88.3
CAT14G-PIA-01 CAT14G 25.4 19.2 76.8 36.8 25.6 6.3

~NoO oA WN = O ~




% SWASH PLATE TYPE PISTON

{58 ANDOK HYDRAULIC.CO Page 14

=z
@)

O O O (UG T G T U T U .
\Io)mhwm_\o@m\l@(ﬂ#wm

P/NO
KVC925-PIA-01
KVC930-PIA-01
KVC932-PIA-01

DA

38

MODEL
KVC925
KVC930
KVC932

N
_ _ — % — Ll Mo
IS8 IS
c - L
G
A B C D E F G REMARK
25 20 63.0 32.0 21 4.6 92.0
30 24 72.85 38.5 28.1 6 111.3
32 25 73.2 38.5 28 6 111.3




% SWASH PLATE TYPE PISTON @ HANDOK HYDRAULIC.CO Page 15
1 )
L % i
S Y — Lng - s g
| I
| L)
- ol - C
B G
NO P/NO MODEL A B C D E F G REMARK
PSV2-55T-PIA-01- PSV2-55 19 12 493  27.0 18 4.5 59.5

~NoO oA WN = O ~




